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FE model of a bar with imposed displacement
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FE model of a bar with imposed displacement
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FE model of a bar with imposed displacement

set of equations: K] -{q} ={F}
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FE model of a bar with imposed displacement

boundary conditions: wu,=0
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FE model of a bar with imposed displacement

displacements:
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FE model of a bar with imposed displacement

strain in elements:
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stress in elements:
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FE model of a bar with imposed displacement
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DOF solution:
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FE model of a bar with imposed displacement

reactions:
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FE model of a bar with applied force
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FE model of a bar with applied force

boundary conditions: wu,=0
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FE model of a bar with applied force
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FE model of a bar with applied force
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Two types of load giving the same result:
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Comparison between imposed displacement and force

Load type Set of FE equations
Imposed 0
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